202 3FEE (SMoHEE) mIiARE DB A

1| (2
%(%—yg) T? (m) (F — umg)x, (J]
(3) F
g
pumg
B2 | (4 (5)
3at? (m) Kg (m/s%)
(6) (7)
5 2
Sl (s) —Zat1 (m]
B3 | (8 1 , . (9) T »
a m a _ m/s
2(3g 1) ug !
FR VLA
(10) FEFE oH A azﬂ i
= (s) Lo (m)
g Kg
(11)
H__
(12) (13) (14)
2 1 31, 85 (m)




IT

1

A

(1) K& FE (2) K&& Aok
I L otx % L+
2ma +7 B, L (N +7
@ -z +z, =Z
(3) (4)
en,vS (A) en,vSB;L (NJ
(5) k& EEE (6) K& L
@ - O
Qo v Qo @ ty o
Ameyr? LN/ +z, -z ATTENT? i) +z, -z
(7) (8)
2
i [ 90 9¢ (m/s)
r 47‘[801‘2 dmegmr
(9) K& & T (10)
Q0Q OB B
RS —= (A)
4-7'[807' ﬂon
; +z, -z
(1) k& & | FE (12)
| iz
. @ muv,? QoQ
Qu,B, (NJ] B R = 5 + Qv,B,
¥ ATTEQT
+z, -z
(13) (14)
2mv, (T) 4mm (s)
Qr B>Q
(15)
sz [A]
2mr
(16) K& X YL/ A FB0L BE L %
HoQU (T) | =D
Al LA E,
(17)

(m]




I

M1 | (DEE IRBHEL

V- Va i %4
7 (m) | = (Hz)

(2)
LE AL T2 DT, %iﬁ@&f%@%&%ﬁ% (m) T3,

B ¢ (s) FlICETERRE Ve (m) & BHEB 28 ¢ (s) BICETIERE ver (m) OEZFIFD

HIEoKETEH 2L, BHEBM ¢ (s) Faﬁa:ﬁﬁbﬂm%&m;ﬁciv;” ftiaekE 3,

XoT, A B CHENE L3 ERORMEIT L (Ho) k755,

V—UB

% 4 d (Hz)
(3) (4)
V_va f(V+VA)—fA(V“UA)V
V—va (Hz) fW+va) + faV —va) (/5]
(5) (6)
2vgf Vg
V + vg (s~1) (m/s)
M2 | () (8)
F-F -
F ¢ (m/s) sinwt; = — FDMI; Y,
9)
(W)




1 202 34 (5S4 piiHE (k%
fi5 1
7 FE A4 RE v OGE

il 2

(1)

WENZIGIC X » TR O RE X 20.0—-115 = 85°C Tk

117g DKEW A 8.5°C T 235, Mz 7= NaNOs i3 17/85 = 0.20 mol

foT. 117 X 85 X 42 + 0.20=20884.5 = 21000  21kJ/mol DUKLEY
fitoT & — 21kJ/mol

(2)
VAR AR A & 10°CTE 100g DKzt LT 80g DilEF b V 7 23RS 5
FURIAHIC T 572011, KRS H D KDBExg & T2 L
100 : 80 = (100 —x) : 17 Zfi# i iE & v
80 x = 6300 x=78.75 % 79 ¢

fil 3
(M
~ZDFEA]  REARMRGF DL, REEARZ DK

(2) (a)
NaOH + HNO; — NaNO; + H,0O

2) b
200g 11 4.00% (3 8.00g 72 ® T, NaOH 3 0.200 mol
200g 1 6.30%13 12.6g 72D T NaNO; & 0.200mol TH %
124235 56.5k]/mol 72D T,
56.5 X 0.200=11.3k] & 11.3 kJ

(3)
Z D RIGTHERMT % 7KiZ 0.200mol 72 D T 3.60g
NaOH aq i 200 -8.00 = 192 g HNO; aq 1t 200—12.6 = 187.4 g

FITiE 192 +187.4 + 3.6 =383 g d/KIC, NaNO3 2% 0.200mol b b  17.0 g 3BT T 5

B2 X b 25°CORIFIAR T3 100g D7KIZ 90 g ® NaNO3 AAE T %,
VAl x 23 NaNOs % yg &35 &

100:90 = 383: (17 +y) 2KV LD L Z A TRIFNAW & 72 5,
1700 + 100y = 34470 Th#fEn»T, y=3277 % 328 g



II
1

f 2

i 3

i 4

fill 5

fi 6

7

7 ot 2

2 7 Tl EAYELR ANAT
+ # *

AT —HR{L IR CHEL R i
b = +#

N G TA % e "B AR

(1) ”

;

(2)  1.71X10* & /(5.7x10° F)=3

#ﬁywsﬁmﬁ%%ﬁﬁtt@v\ﬁﬁ$m(ﬂ=

: 1272 %,

1
L7285, 1.2x10*8x~8—=1.5x10'9 [%]

7inN

ZEMUIRFE Doy TS 44

PV=nRT 3V .
1.0x103x V= o2y 8.3 x 10° x 300
44

V=18.675 = 19[L]

—WE{bIRSE & I LIRFEDKWE BIL, 0.448/22.4=2.0x102 mol
TEMLIRFZOMEEE xmol 95 &
100 30 1
0.10 =x+0.20 — & 3
X 1000 X X 1000 x > V. x=7.0x10" mol

L7e o T—(LIRFBOWE &L, 2.0x102=7.0x10 = 1.3x102 mol

1 N B oy yig=]
CO+— 0, —= CO, £V, MEIREEROWHE R,

1.3%x10%/2=6.5X10" [mol]

E RS EREZIEIT, B L ORE D EERE R 72 50K

1t

SiO; + 6HF — H,SiFs + 2H,0




[ITA
il 1

fil 3

fil 4

fil 5

fal 7

fil 8

fi§l 2
F G
0
Hsc\g/'c':\O,CH3 (.g g
) an H” " "OH
OH H™H 0
E
Q o
H3C\B/C\O,CH2-CH3 HSC_C—O_(PH_Q_O_CHQ"CHE;
OH CHz O
HCOOH — H,O+CO
i 6
@) P
OL .
O:C\ ,C/O CHs H2H H,
H,C—-CH, HyC-C-OH H3C/C\C/C\CH3
|
HQC'—CH3 OH
CH (IC?) CH
e _C__ -2
H,C-CH ™~ 20" "cH,  ~c-cp,
G 0 HC':’: _CHjg
Ho 7 CH,
HsC ¥
i
_Cs.CH
HaCs o CHa OH H,G™ e 2 gy
H 2 H
(T:H3 9H2
_CH,. C._.OH

/C\\ e
H™SC™ 7 "0H Hy, e "CH

2




0 7 h i
CJTCHZ%—C—N{»CH?_}GN

0O

%@Z::@ "

3)
CHs

FCH,- C+

o} O CH,-CH,-OH

JrcH2 CHJr

o \N CH—CHs

H CH3
3
CHs HaC,
HZC:C\ /C:CHQ
/C_O-CH2CH2-O—C
/ \\
O O

2OD_ERFENKG LEmn FHHEZEE ST L0,

ZRAEE (B i)

EIE G,



fi 4

4

(%)

100 \
1 Kt; 1

<o

20

30 32
i L£(°C)



